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1.

(A) (B)

(C) (D)

2.

(A) (B)

(C) (D)

3.

(A) (B)

(C) (D)

4.

(A) (B)

(C) (D)

5. —

(A) (B)

(C) (D)

6. —

(A) (B)

(C) (D)

7. —

(A) (B)

(C) (D)

8.

(A) (B)

(C) (D)

9. —

(A) (B)

(C) (D)

10. —

(A) Government (B) Gazetted

(C) Grivience (D) Gradation

11. Choose the correct form of the verb—

Vimal .......... (play) cricket when I saw him.

(A) Played (B) Is playing

(C) Was playing (D) Had played

12. Choose the correct model—

You ... .. .. . ..  wear helmet while driving a two

wheeler.

(A) can (B) should

(C) must (D) would

13. Choose the correct passive voice of following

sentence—

Open the window.

(A) The window be opened.

(B) Let the window be opened.

(C) The window should be opened.

(D) The window will be opened.

14. Choose the correct narration (Reported Speech)

of following sentence—

Vijay said to Mohan, “Where do you live?”

(A) Vijay asked Mohan that I lived.

(B) Vijay told Mohan that where he lived.

(C) Vijay asked Mohan where he lived.

(D) Vijay asked Mohan If he lived.

15. Fill the blanks with a verb in agreement with its

subject—

Rakesh .......... a doctor.

(A) am (B) is

(C) are (D) None
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(Instruction) :

1.

2.

3.

4. (A), (B), (C), (D) 
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16. Choose the correct Pronoun—

She has a cow .......... gives ten litre milk.

(A) which (B) who

(C) whom (D) whose

17. Choose the correct conjunction—

I .......... Mukesh am absent.

(A) and (B) as well as

(C) although (D) thouse

18. Frame a question — ‘I can speak English.’

(A) Am I speak English?

(B) Can I speak English?

(C) What can you speak English?

(D) Can you speak English?

19. Make a question tag—

My sister can do it, ..........?

(A) Isn’t she (B) can’t she

(C) doesn’t she (D) can’t he

20. Choose appropriate word for the group of the

words—

A person who knows everything.

(A) Theist (B) omniscient

(C) centenarian (D) polyglot

21.

—

(A)
5

6
(B)

1

12

(C)
1

6
(D)

5

36

22. 1, 3, 2, 5, 9 (Median) —

(A) 4 (B) 20

(C) 5 (D) 3

23. 6 —

(A) 36 (B) 216 

(C) 216 (D) 72 

24. —

(A) 19 (B) 93

(C) 99 (D) 97

25. 3, 6, 9, 12, 15 .......... 21 —

(A) 63 (B) 73

(C) 93 (D) 65

26. cos A = 
4

5
tan A 

(A)
5

4
(B)

3

4

(C)
3

5
(D)

5

3

27. 6 2 3

(A) 30° (B) 45°

(C) 90° (D) 60°

28. 20 

(A) 20 (B) 25 

(C) 25 (D) 30 

29. 7 

(A) 49 (B) 154 

(C) 49 (D) 98 

30. 3 : 4 : 5 : 6 

—

(A) 60° (B) 90°

(C) 120° (D) 180°

31. VICTORY XGERQPA 

KINDLE 

(A) MGPBNC (B) BEDRVH

(C) MGPFNC (D) SOWNEQ

32.

3 8 2 5 8 3 2 8 3 2 8 2 7 8 4 8 5 6 8 7 8 4 2 8 6

(A) (B)

(C) (D)

33. P, Q R S S 

T, V T, Q  V P 

—

(A) (B)

(C) (D)

34. 40km 

50km 

110 km 

50 km 

(A) 150 km (B) 150 km 

(C) 70 km (D) 70 km 
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35.

(A) (B)

(C) (D)

36.

(A) 18 (B) 16

(C) 8 (D) 20

37.

(A) W (B) X

(C) Y (D) Z

38. —

I 

II 

(A) I 

(B) II 

(C) I II 

(D) I II 

39. (A) (R) 

(A) – 

(R) – 

(A) A R R, A 

(B) A R R, A 

(C) A R 

(D)

40. 5 2021 5 2022 

(A) (B)

(C) (D)

41.

(A) (B)

(C) (D)

42.

(A) 1925 (B) 1817

(C) 1917 (D) 1856

43.

(A) (B)

(C) (D)

44.

(A) 1945 (B) 1939

(C) 1949 (D) 1942

45. —

(A) (B)

(C) (D)

46.

10 

(A) (B)

(C) (D)

47. 2022 

(A) (B)

(C) (D)

48.

(A) (B)

(C) (D)

49.

(A) (B)

(C) (D)

50.

(A) (B)

(C) (D)

51.

(A) (B)

(C) (D)

52.

(A) (B)

(C) (D)

53.

(A) (B)

(C) (D)

54. T-20 

(A) (B)

(C) (D)
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55.

(A) (B)

(C) (D)

56.

(A) (B)

(C) (D)

57.

(A)

(B)

(C)

(D)

58.

(A)

(B)

(C)

(D)

59.

(A) 42

(B) 44

(C) 52

(D) 86

60.

(A) (B)

(C) (D)

61. —

(A) (B)

(C) (D)

62.

(A) (B)

(C) (D)

63.

(A) (B)

(C) (D)

64.

(A) 73 (B) 74

(C) 75 (D) 76

65.

(A)

(B)

(C)

(D)

66.

(A) (B)

(C) (D)

67.

(A) (B)

(C) (D)

68.

(A) (B)

(C) (D)

69. 24

(A) (B)

(C) (D)

70. 1857 

(A) (B)

(C) (D)

71.

(A) – 

(B) – 

(C) – 

(D) – 

72.

(A) (B)

(C) (D)

73.

(A) (B)

(C) (D)

74. —

(A) – 1925

(B) – 1909

(C) – 1932

(D) – 1907

75.

(A) (B)

(C) (D)

76.

(A) (B)

(C) (D)
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77.

(A) (B)

(C) (D)

78. (2020) 

—

(A) (B)

(C) (D)

79. 2011 

(A) (B)

(C) (D)

80.

(A) (B)

(C) (D)

81.

(A) (B)

(C) (D)

82.

(A) 1975 (B) 1983

(C) 1973 (D) 1978

83.

(A) (B)

(C) (D)

84. —

(A) (B)

(C) (D)

85.

(A) (B)

(C) (D)

86. —

(A) (B)

(C) (D)

87.

(A) (B)

(C) (D)

88. GDP 

(A) (B)

(C) (D)

89. —

(A) UNO (B) UNDP

(C) IMF (D) World Bank

90. —

(A) (B)

(C) (D)

91.

(A) (B)

(C) (D)

92.

(A) (B)

(C) (D)

93. —

(A) (B)

(C) (D)

94.

(A) (B)

(C) (D)

95.

(A) (B)

(C) (D)

96.

(A) (B)

(C) (D)

97.

(A) 1572 (B) 1578

(C) 1570 (D) 1672

98.

(A) (B)

(C) (D)

99.

(A) (B)

(C) (D)

100.

(A) (B)

(C) (D)

101.

(A) (B)

(C) (D)

102.

(A) (B)

(C) (D)

103.

(A) (B)

(C) (D)
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104.

(A) (B)

(C) (D)

105.

(A) (B)

(C) (D)

106.

(A) (B)

(C) (D)

107.

(A) (B)

(C) (D)

108.

(A) (B)

(C) (D)

109.

(A) (B)

(C) (D)

110.

(A) (B)

(C) (D)

111.

(A) (B)

(C) (D)

112.

(A) (B)

(C) (D)

113.

(A) (B)

(C) (D)

114.

(A) (B)

(C) (D)

115.

(A) (B)

(C) (D)

116.

(A) (B)

(C) (D)

117. —

(A) (B)

(C) (D)

118.

(A) (B)

(C) (D)

119. —

(A) (B)

(C) (D)

120.

(A) (B)

(C) (D)

121.

(A) (B)

(C) (D)

122.

(A) (B)

(C) (D)

123.

(A) (B)

(C) (D)

124.

(A) (B)

(C) (D)

125.

(A) (B)

(C) (D)

126.

(A) (B)

(C) (D)

127.

(A) (B)

(C) (D)

128.

(A) (B)

(C) (D)

129.

(A) 1848 (B) 1722

(C) 1646 (D) 1764 

130.

(A) (B)

(C) (D)

131.

(A) (B)

(C) (D)
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132.

(A) (B)

(C) (D)

133.

(A) (B)

(C) (D)

134.

(A) 1085 (B) 1070 

(C) 6516 (D) 9516 

135.

(A) 153 (B) 154

(C) 155 (D) 156

136.

(A) (B)

(C) (D)

137.

(A) (B)

(C) (D)

138.

(A) (B)

(C) (D)

139.

(A) (B)

(C) (D)

140.

(A) (B)

(C) (D)

141.

(A) (B)

(C) (D)

142.

(A) (B)

(C) (D)

143.

(A) (B)

(C) (D)

144. SI —

(A) (B)

(C) (D)

145.

(A) (B)

(C) (D)

146. IC —

(A) Internet Circuits (B) Integrated Circuits

(C) Input Circuits (D) International Circuits

147. —

(A) (B)

(C) (D)

148. —

    A  B

(A) Ctrl + z = Undo

(B) Ctrl + x = Cut

(C) Ctrl + c = Copy

(D)

149. —

(A) C (B) C++

(C) Java (D)

150.WWW —

(A) World Wide Web (B) World With Web

(C) World Wide Work (D) World Without Web
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